Attempt ......... questions

1 C ) )
Which is not a derived unit

A. Pascalgﬁ L

Least count of vernier callipers is

A.0.0lmm B.0.0lcm
> Falcon can fly at speed oft
2.200 kmh” b.17 kmh”
c. 100 kmh” d. 70kmh”
* The area of speed time graph represents.
a. distance b. speed
c. Time d. velocity

5 The force required to move the carina
curved path is
a. Centrifugal b. Tension
c. Gravitational d. centripetal
6 Unit of momentum is
akgms’ b.kgms

ckg ‘ms c.kgm’s”

forces 10N each. The tensiofinistring is

a.l10N b.5N

c.Zero d: 20N
8 Torque depends upon:

a.Force and mass

c. Force and moment arm d.Force and velocity

B.Kilogram"l/ig

b.Mass and velocity
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A string is stretched by two equal and opposite U?’;ug/f%k/t?gff—“ J'/J’;Jl?”[dﬂfvg
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a.10N b.5N
c.Zero c.20N
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2 Two equal but unlike parallel forces having ;¥ U;"(‘ ST U6 - » Jj, LU J? Ssln s

different line of action produce:
a. Torque b. A couple

c. Equilibrium

10 The center of gravity of a uniform solid
cylinder is at:
a.Middle point on its axis.
b. Center of the cylinder

c. The point of intersection of diagonals.

d.Centre of mass.
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d. Neutral equilbrium
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